231

SHPUC70

NFH/_IZY b

IT7E317

@
'
N
BRG @ § @ 245 g ok
L
X
25‘ = 2-¢12 2;@5
4 > o 2-$10H7, 2-$13
I T T LJ % - ; { ;
5l o ——1 | r o = ‘ ‘ 1 e
AR s « <
% 77@ 77777 T | | T | I F [} i i
fffff = gz o ‘ ‘
5 2-M12P1.5 ||| \ \
L —_—— | | |
S g@ s \ 2-#13 2-$20
I .29 | e
®m ©|0da 470(D) \@ 313 BB
X
212.5(222.5t>#1t)
59.5 21 55:+0.02 50
(69.5t>44) 35 N B E
N = S - I7 ) ZEREIES Min 0.5MPa
e -8 8 a3 Y
—— ~M AES2AK A9SL (SMO)
o + = —— fEFEE  DC12/24V
oy - J—KgEE 3m
\_2-910
No. & ¥ 24 HHEwE No. & ¥ 4 HHEwE
1 | ASARGT=20 1 | Steel 9 | RATUVY 1| TR21-30(8st). TR21-45(12st)
2 | 7O—kEY 1 | Steel 10 | Tvivy 1 | Steel
3 | ¥— 1 | Steel 1 | N—kavoFvh 1 [M10
4 | AZARNTL—h 1 | Steel 12 | RBIRFARIL S 4 | M5x60
5 | N\vFTTL—h 1 | Steel 13 | RABRFRIL 4 | M6x15
6 | 70OvY 1 | Steel 14 | RABTUFHRIL 2 | M8x25
7 | A&V RRILK 1 | Steel 15 | #F 2 | SMC# ($10)
7 IF7IVVE (BT E) ; SMCH (¢ 40) 16 | HRLHFH/ voE> 2 | $10x60 (f1/@Ef)
IFIUE (£H) SMCH (4 40) 17 | /v ZEVRFIEDRL | 2 | M12x1.5 ((TB&)

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

A "2_7 h2 h3 h4 H T u
8 72 35 15 92 127 55
12 76 42.5 22.5 100 142.5 60
AbO—% 27025 mIgeH ERERE =S
Catalog No. b S #MEN | BEN | X kN kg kg
8 96 207 TR21-30 54 8.1
SHPUC 70 12 97 207 TR21-45 31 ° 8.4
‘ Catalog No. ‘ ‘ D ‘ - ‘ S ‘ - ‘ Option ‘
SHPUC 70 -— 8 —SA
Order  gHpuUC 70 — 8 —SA—LHC
17vaa-K # #
Option SA DUPZ 2SR
LHC FTBOMEELE (TILR) 21 TICEBLE T,
BCERICH=>T

- MFABRI I T EOBMIAREEABDIETEE CEET.
- EEERADORFIZAEETTY . ERECIERADBE . BRME CIRHRILZZLN,

PN

SN NN NN

NN
NATRSS

Example

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

232



233

NFH/_IZY b

IT7E317

SHPUC90

\,,’/ - O
e L0
!
®1B @ G @ $45 9 WE
Z/ £
£25 X
+ 2-412 2-¢15
. > o 2-$10H7 2-413
e
2 E | | ;
e : Niims
4 . (] (=]
2 :' - | Z J/ = o I ~
~ A Iy T & ‘
~ S S8 QT
== < ] ! i
| 77;‘ & b 2-M12p15 || | ‘
L T
= 2-$13 2-$20
olu 2Ny WA 25
®) Z O $90(D) 2 312 EREEA
243 (253t >4 1)
66 23 29 65+0.02 60
(76> 1) o
2 :
R A\ 45 .28 _ INF R E
Foa)e: N
1Y %
B f ) T
N L o gl BIX® - I7 Y HEREES Min 0.5MPa
! 2 ﬁ" RN K
S i HiES4F A9BL (SMC)
~ TP EREE DC12/24V
S P U—FiRRE 3m
No. % W 24 WE e No. & ¥ 4 HHEwE
1 | ASARGT=20 1 | Steel 9 | RATUVY 1 | TR21-40(8st) TR21-55(12st)
2 | 7O—kEY 1 | Steel 10 | Tvivy 1 | Steel
3 | F— 1 | Steel 1 | N—kavoFvh 1 | M10
4 | AZARNTL—h 1 | Steel 12 | RBIRFARIL S 4 | M6x15
5 | N\vFTTL—h 1 | Steel 13 | RBREFRIL 4 | M8x25
6 | 7OvY 1 | Steel 14 | RABTUFHRIL 4 | M8x65
7 | A&V RRILK 1 | Steel 15 | XILARTA 2 | SMC# ($10)
7 IF7IVVE (BT E) ; SMCH# (¢ 63) 16 | HRLHFH/ voE> 2 | $10x60 (@)
IFIUE (£H) SMCH (4 63) 17 | /v ZEVRFIEDRL | 2 | M12x1.5 (/@ &)

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

1"2_7 h2 h3 h4 H T u
8 80 40 20 100 140 55
12 84 47 27 108 155 60
AbO—% 27025 mIskh BHRER =E
Catalog No. D s WEN | BEN T KN kg kg
8 124 207 |TR21-40| 64 15.2
SHPUC g 12 120 210 |TR21-55| 47 6 15.4
‘ Catalog No. ‘ D ‘—‘ S ‘—‘ Option
SHPUC 90 -— 8 —SA
Order  gHpuUC 90 — 8 —SA—LHC
17vaa-K t #
Option SA PUPZ AN 0N
LHC HEBOWFELE (TILR) 21 TIZEBLET,
BCERICH=>T

- MFABRE I T EOBM I AREEABDIETERE CEET.
C EEERADORFIZAIEETTY  ERECIERADBE . BRME CITRHRILZZLN,

PN

SN NN NN

NN
NATRSS

Example

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

234



235

NFH/_IZY b

IT7E317

SHPUC120

i

@
'
_$45 s
DALAE) @ @ @ ® n|o
$30 4
1 = = 2-¢12 2-415
i 2-$10H7 2-413
ey
a0 | v = o i l i
o || j | ] — I/ - @ [ ‘ 1l <
~ ) ) a N ‘
™~ SZA S o
7,7_:1/ 2-M12P1.5/[! ‘ ‘
| | |
< Q/ 54 2-¢13 2-20
| _
®B @ 'rD'Z D2 $120 (D) @ Gx B A SR AR
313(323t> 1)
c 86#1_” 43 _ 29 80+0.02 75
96t o .
SR M2 60 43 INCFEFE
—— C B
ER
N+ -8 2 QE,Q_ S IT Y SEREIESA Min 0.5MPa
vﬁlqd c
o] S— = HiES4F A9BL (SMC)
< @ @ < ~ fEREE DC12/24V
Ny @ < J—KgREE 3m
\2-410
No. % W 24 HHEwE No & ¥ 4 HHEwE
1 | ASARGT=20 1 | Steel 9 | RATUVY 1| TF25-45(8st) . TF25-60(12st)
2 | 7O—kEY 1 | Steel 10 | Tvivy 1 | Steel
3 | F— 1 | Steel 1 | N—kavoFvh 1 [M10
4 | AZARNTL—h 1 | Steel 12 | RBIRFARIL S 6 | M6x15
5 | N\vFTTL—h 1 | Steel 13 | RBREFRIL 4 | M8x25
6 | 7OvY 1 | Steel 14 | RABTUFHRIL 4 | M8x85
7 | A&V RRILK 1 | Steel 15 | XILARTA 2 | SMC# ($10)
7 I7I)IE (Y E) ’ SMCH# (¢ 63) 16 | HRLHFH/ voE> 2 | $10x60 (@)
I7IVVE (1) SMCH (4 63) 17 | /v ZEVRFIEDRL | 2 | M12x1.5 (/@ &)

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

1"2_7 h2 h3 h4 H T u
8 80 47 27 100 147 60
12 84 55 35 108 163 75
AbO—% 27025 mIskh BHRER =E
Catalog No. D s WEN | BEN wx kN kg kg
8 218 392 |TF25-45| 179 215
EHEHE j2d 12 212 408 |TF25-60| 158 10 221
‘ Catalog No. H D ‘—‘ ‘—‘ Option ‘
SHPUC 120 - —SA
Order  gHpuUC 120 - — SA—LHC
= 1
Option SA PUPZ AN 0N
LHC FEBOMELLE (TILR) 24 TICEBLET,
BCERICH=>T

- MFABRI I T EOBMIAREEABDIETEE CEET.
- EEERADORFIZAEETTY . ERECIERADBE . BRME CIRHRILZZLN,

PN

SN NN NN

NATRSS

Example

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

236



